IM1 Problem Set 22

Task 1 Task 2 DC
Put solutions to problems from the Discuss all problems and come to a consensus. Record solutions in your [ DC
previous Problem Set on the board notebooks and present solutions.

Problem Set 22

22.1 Evaluate the following expressions, being mindful of the order of operations.

a. () (2+9) (10~ *(-2) (i) (=3)'+3x(5-10+(-8)

b () (3 t3*573)%% (i) (31579 %%)
22.2 Simplify the following expressions, using the appropriate rules for exponents:
3
—4832d" 9mZn’
a. (3x)(3x* )(-3x%) b. (4xy’)’ c. Tid d. ( om
22.3 We have the following set of numbers: X= {1, 2, 3,4,5,6,7,8,9, 10, 11}. Let Set A be the set of odd

numbers from the original set and let set B be the set of prime numbers from Set X.

a. Draw a Venn diagram for this information.
b. One number is chosen at random.
i.  How probable is it that the number is odd?
ii.  How probable is it that the number is even?
iii.  How probable is it that the number is prime and odd?

224 Two lines are given to you. Line 1 has the equation of 3x + 5y - 19 = 0. Line 2 goes through (4,-3) and is
perpendicular to the line 2x +y - 9 = 0. Use your calculator to determine where Line 1 and Line 2 intersect.

22.5 When not busy doing Math problem sets, Aisha babysits to earn a few extra dollars. The Harris family pays
her $10 plus $5.50 for every hour she works, while the Duggan family pays her $6.50 for every hour she
works.

Write an equation that models Aisha’s earnings when working for the Harris family.
Write an equation that models Aisha’s earnings when babysitting for the Duggan family.
Graph both equations on your calculator.

e o op

For which family should she babysit and why?




22.6

An experiment consists of selecting a ball from a bag and spinning a coin. The bag
contains 5 red balls and 7 blue balls. A ball is selected at random from the bag. its colour
1s noted and then the ball is returned to the bag.

:
When a red ball is selected. a biased coin with probability% of landing heads is spun.
When a blue ball 1s selected a fair coin is spun.

(a) Complete the tree diagram below to show the possible outcomes and associated
probabilities.

Ball Coin
Heads

Red
Tails
Heads
Blue
Tails
(2)
Shivani selects a ball and spins the appropriate coin.
(b) Find the probability that she obtains a head.
(2)

Given that Tom selected a ball at random and obtained a head when he spun the
appropriate coin.

() find the probability that Tom selected a red ball.
3)

Shivani and Tom each repeat this experiment.

(d) Find the probability that the colour of the ball Shivani selects is the same as the colour
of the ball Tom selects.

(3)




22.7 For the following scatter-plots, draw the line of best fit and determine its equation.
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22.8 Find the mean and median of these data sets

a.

b.

(i) 7,13,18,24,3,9,18

(i) See Histograph
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(i) 24,15,18,20,18,22,24,26,18,26,24

(ii) see frequency table




